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(1) To which of the following dynasties did King Bhoja, a great patron of literature and art, belong?
[A] Karkota

[B] Utpala

[C] Paramara

[D] Gurjara Pratihara

Answer : [C]
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(2) To which of the republic of Buddha belong?
[A] Licchavis

[B] Sakyas

[C] Mallas

[D] None of the above

Answer : [B]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(3) To evolve a peaceful settlement of the conflict between India and China, which of the following non-aligned Afro-Asian nations participated in
a conference held in December 1962?

[A] Burma (now Myanmar), Combodia, Indonesia and UAR
[B] Burma, Sri Lanka, Combodia and Indonesia

[C] Burma, Indonesia, Ghana and Sri Lanka

[D] All of the above

Answer : [D]
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(4) The Vedic deity Indra was the Goddess of
[A] wind

[B] eternity

[C] rain and thunder

[D] fire

Answer : [C]
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(5) The year 788 AD was a good one for Hinduism. Why?

[A] Shankracharya was born that year.
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[B] Harsha Vardhana, the last Buddhist king, died.

[C] Samudragupta converted to Hinduism.
[D] All Muslim invaders were defeated.

Answer : [A]
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(6) When was the South Asian Association for Regional Co-operation (SAARC) formed?
[A] 1985
[B] 1982
[C] 1986
[D] 1987

Answer : [A]
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(7) Which of the following international organisations has started the scheme 'Partnership for Peace' for a group of nations?
[A] Organisation of Petroleum Exporting Countries (OPEC)

[B] Economic and Social Commission for Asia and Pacific (ESCAP)

[C] North Atlantic Treaty Organisation (NATO)

[D] Organisations of African Unity (OAU)

Answer : [C]
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(8) The working language(s) of the UNESCO is/are
[A] French only

[B] English only

[C] English and French

[D] English, French and Russian

Answer : [C]
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(9) The UNO was founded at
[A] Moscow

[B] London

[C] Paris

[D] San Francisco

Answer : [D]
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(10) SAARC was founded in
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[A] New Delhi

[B] Geneva
[C] Dhaka
[D] Thimpu

Answer : [C]
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(11) out of proteins, lipids and carbohydrates present in a cell membrane, what is true?
[A] Lipids are maximum

[B] Carbohydrates are minimum

[C] Carbohydrates are maximum

[D] All three are in equal proportion

Answer : [B]
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(12) Monotremes are unique mammals because they
[A] posses hair

[B] give birth to live young

[C] secret milk in a pouch

[D] lay eggs

Answer : [D]
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(13) Pigmentation of skin is due to
[A] lymphocytes

[B] monocytes

[C] leucocytes

[D] melanocytes

Answer : [D]
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(14) Most abundant tissues of our body are
[A] muscular

[B] connective

[C] epithelial

[D] nervous

Answer : [B]
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(15) Nymph is the name of young one of
[A] butterfly

[B] beetle

[C] housefly

[D] cockroach

Answer : [D]
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(16) Suitable impurities are added to a semiconductor depending on its use. This is done in order to
[A] increase its life

[B] enable it to withstand higher voltages

[C] increase its electrical conductivity

[D] increase its electrical resistivity

Answer : [C]
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(17) Intensity of sound at a pointis _____its distance from the source.
[A] directly proportional to

[B] inversely proportional to

[C] directly proportional to square of

[D] inversely proportional to square of

Answer : [D]
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(18) Stars which appear single to the naked eye but are double when seen through a telescope are
[A] novas and supernovas

[B] binaries

[C] asteroids

[D] quasars

Answer : [B]
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(19) Solar eclipse will take place when

[A] the sun is between the moon and the earth

[B] the earth is between the moon and the sun

[C] the moon is between the sun and the earth

[D] the moon does not lie on the line joining the sun and the earth

Answer : [C]
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(20) Rain is falling vertically downwards. To a man running east-wards, the rain will appear to be coming from
[A] east

[B] west

[C] northeast

[D] southeast

Answer : [A]
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